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 Autograph Activity

Introducing ‘Volumes of Revolution’
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 Open a new 3D (Adv) Graph Page
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 Restore x-y Orientation
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 Enter Equation y = x + 1 ensuring that you select “Plot as 2D-equation”
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Introducing 'Volumes of Revolution’

>
2, P
= 000000 060 HEEE @

0PHE0EE 086 FELE @

@ e= polr

it - ety

By =x+1
i = >
°

HEEEE
D s | Aueshopes N N IO A Al @ W& & - - A zaof
Page 1 Sec 1 11 AtSEm LnS  Coll REC| [TRK EXT | OVR [Englsh (US| | Gl

Stat.  CEGPEBRGC2&E = - - o €8BS






	[image: image6.png]Add Equation
Equation
ame: | Equaton 1
Equation: | y = + 1
HEBEE HE HEEE B
HEULOE B BMWE E

©cyinl 1= polar Plpererre
O spherical r = Polar {Cartesian only)

J(
I

)
=] (o]

[Cetcotms ] [ swwpopors ] [ ormopens

(e ) .





	
	

	

	[image: image7.png]


  Attach two points to the graph at x=0 and at x=2
[image: image8.png]


  Select both points and right click to . . . 
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  Find Area – use Rectangle (-) with only 2 Divisions
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[image: image12.wmf] Calculate and write down the volume that would be generated by rotating each of these rectangles through 360° around the x-axis:
a) Using the smaller rectangle 
b) Using the larger rectangle


	
	

	
[image: image13.wmf] Hence write down the total volume when the shaded area is rotated 360°  about the x-axis
	Total Volume = 


Continued on next page . . .

	Checking your answer . . . 
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  Using ‘Slow Plot’ . . . 
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  Select only the Shaded Area 
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  Right Click to Find Volume . . . 

This is known as the: 

Volume of Revolution
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	The ‘Status Box’ will display the value of this volume
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Molume: 5T, Area: 3





 The shape is shown opposite
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	It is now possible to change the equation and/or the position of the 2 points on the graph. 
Similarly rectangles can be changed for trapezium and/or the  number of ‘divisions’ can be increased.
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[image: image21.wmf] Finally calculate the value of:
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Compare your answer to the volume shown in the above diagram
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